INboc017V02_GL

[
C-— K¢

T AN

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY Tools Recommended

< () A A

(O



\arTs

|||||||||||||||||||||||||||||||||||||||||||||||

HARDWARE




@ Install the Ring
Den Ring anbringen
@ Instalar anillos

ﬁ Installez I'anneau

Installare I'anello




Install Brackets
Die Halterplatte anbringen

Instalar el soporte de sujecion
Installez les supports

SFBRE2

Installare le staffe

25

31
/

74

g o

@ Your shade will not be installed correctly unless brackets are perfectly aligned with each other.
A laser level is recommended to align the screw holes to the position as shown in the picture.

Die Halterplatten sollten in einer Linie angebracht werden, sodass die Markisenkassette besser
befestigt werden kann. Wir empfehlen, eine Wasserwaage zu benutzen.

Los soportes de sujecidn no se instalan correctamente a menos que estén perfectamente
@ alineados entre si. Se recomienda que use un nivel laser para alinear los orificios de los
tornillos como se muestra en las ilustraciones.

Votre_store ne sera pas installé correctement a moins que les supports
ne soient parfaitement alignés les uns avec les autres.
Il estrecommandé d'utiliser un niveau laser pour aligner les trous de vis
ala positionindiquée sur la figure.

Il paralume non sara' installato correttamente a meno che le staffe non
siano perfettamente allineate una con I'altra.
Si consiglia una livella laser per allineare in posizione i fori delle viti
come mostrato in figura.

150mm 17.5mm 17.5mm 150mm

(="

(="
=
=




R 2

3 8

El

Drill holes at a depth of 5 cm as shown in the following picture, then insert a plastic
expansion plug @ 8 x 45 mm in each hole.

Markieren Sie die Stellen der Halterplatten entsprechend der Grafik, bohren Sie
danach 5 cm tief, und fligen Sie in jedes Loch einen Kunststoff-Diibel (@ 8 x 45mm)
ein.

Taladre los orificios con profundidad de 5 cm como se muestra en la siguiente
imagen, luego inserte un tapén de expansion de plastico (@ 8 x 45 mm) en cada
orificio.

Percez des trous a une profondeur de 5 cm comme indiqué dans la
figure suivante, puis insérez un bouchon d'expansion en plastique
@ 8 *45mm dans chaque trou.

Praticare dei fori a una profondita di 5 cm come mostrato in figura
seguente, quindi inserire un tassello ad espansione in plastica @
8*45 mm in ciascun foro.

— OO

R\ (e € _—5cm—

oo [N

[EN| Fix the bracket with screws ST4.8 x 50 mm.
Die Halterplatten durch ST 4,8 X 50 mm Schrauben fixieren
[ES| Fije el soporte de sujecion con tornillos de ST4,8 x 50 mm

Fixez le support avec des vis ST4.8 * 50mm
Fissare la staffa con le viti ST4.8*50mm

| O 0 mm

1




S 38 R 2

[07] x2

i

[04] x2

Fix the hook with screws ST4.8 x 55 mm

Die Plastikhaken durch ST 4.8 X 55 mm Schrauben fixieren
Fije los ganchos de plastico con tornillos de ST4.8 x 55 mm
Fixez le crochet avec des vis ST.8 * 55mm

Fissare il gancio con le viti ST.8*55mm

=
=/

C_._,-"’

@4 mm

=

DS

[Z- === 1 ¢

los




@ Attention: This product is not intended for use during strong winds, only for use during
windless or breezy days when the wind speed does not exceed 20 km/h.

Achtung: Das Produkt darf nicht bei starkem Wind benutzt werden. Benutzen Sie es nur,
wenn es keinen Wind oder nur leichten Wind gibt, die max. Windgeschwindigkeit: 20
km/h.

Advertencia: No permita que use el producto en condiciones de viento fuerte, sélo es
@ adecuado para el uso en dias sin viento o con brisa y la velocidad del viento no debe
exceder los 20 km/h.

Attention : Ce produit n'est pas destiné a étre utilisé en cas

de vents forts, mais uniguement pendant les jours sans
vent ou de brise, lorsque la vitesse du vent ne dépasse pas
20KM /h.

Attenzione: questo prodotto non é destinato all'uso in caso
di raffiche di vento, e' progettato solo per |I'uso durante
giornate senza vento o ventilate quando la velocita del
vento non superai 20 km/h.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

